




<latexit sha1_base64="DGF4GfRWe3CafbodfQ6qFp5/cGc="></latexit>

kx

<latexit sha1_base64="zSVgW2VGsHAiVeNMgLqF/l5x23k="></latexit>

ky

<latexit sha1_base64="3jtsFjRQxbIhl5SSoxJTnD9ZE6I="></latexit>

E

<latexit sha1_base64="49xzf8pju0/miCpLyP6pzZ6EDM8="></latexit>⇡
<latexit sha1_base64="kRTFUtGptMbnrCg1RD8RFC6Rqjk="></latexit>�⇡

<latexit sha1_base64="49xzf8pju0/miCpLyP6pzZ6EDM8="></latexit>⇡

<latexit sha1_base64="kRTFUtGptMbnrCg1RD8RFC6Rqjk="></latexit>�⇡
<latexit sha1_base64="49xzf8pju0/miCpLyP6pzZ6EDM8="></latexit>⇡

<latexit sha1_base64="kRTFUtGptMbnrCg1RD8RFC6Rqjk="></latexit>�⇡
<latexit sha1_base64="49xzf8pju0/miCpLyP6pzZ6EDM8="></latexit>⇡

<latexit sha1_base64="kRTFUtGptMbnrCg1RD8RFC6Rqjk="></latexit>�⇡
<latexit sha1_base64="DGF4GfRWe3CafbodfQ6qFp5/cGc="></latexit>

kx

<latexit sha1_base64="zSVgW2VGsHAiVeNMgLqF/l5x23k="></latexit>

ky

<latexit sha1_base64="3jtsFjRQxbIhl5SSoxJTnD9ZE6I="></latexit>

E

<latexit sha1_base64="W5KusrdzNr6I9a/UFEURXTPcP6Y="></latexit>

±E(kx, ky)

<latexit sha1_base64="vt18ACil1A1YFnBMq+V/VBk36gk="></latexit>

t = 1,�x2�y2 = 0.4
<latexit sha1_base64="vt18ACil1A1YFnBMq+V/VBk36gk="></latexit>

t = 1,�x2�y2 = 0.4

<latexit sha1_base64="RlOQ2OGCa6E6NKxF5yV8MDhvM00="></latexit>

�xy = 0.2
<latexit sha1_base64="p3MnyNknB0BtSxsKj0V48f0EzKI="></latexit>

�xy = 0.0





トポロジカル超伝導


